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01. What is the average distance (approximate) between the Sun and
the Earth (T& 3nfut gedimeiier T 3R (1) foret 3R ?)
01. 70 x 10° km. 02. 150 x 10°km. 0000
03. 110 x 108 km. 04. 100 x 108 km.

02. What is the name of the first woman space tourist?

Ufgedn Higell STaUes USiehla AT el 3TE ?
01. Jullian Moore (SR M)  02. Anousheh Ansari (3T91g KI)
03. Paula Radcliffe (qfeT ¥efee™®) 04. Namira Salim (Af8R1 @efta)

03. The first person to enter into space was ..........

0000

01. Valentina Tereshkova (Sgeifet ﬁi’?ilﬁ?zn)

02. Edward H. White (USaE UHl. &g15e)
03. Yuri Gagarin (&t TRTEA)
04. Alan Shepard (374 JIUg8)
04. The asteroid belt is located between which two planets in the solar

system? TTEUETAT U1 ¥& I IV & JETed 0l 3118,
01. Earth and Mars (924t 3101 HiTes)
02. Mars and Jupiter (FTes ATfUT TE)
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03. Jupiter and Saturn (TT& aafot v1fA)
04. Saturn and Uranus (31 370t 99)

05. On February 1, 2003, Indian astronaut Kalpana Chawla died in which
space shuttle crash landed on earth? § TsIaRt 2003 TSt HAHTINGA G2
TR AT RV TR I FTET Z3A T @A Fweu A It (5 0 0 0O
T e o ?
01. Apollo Il (3TdieT) 02. Sputnik - Il (FTeew - 11)
03. Jupiter ({gef@&—-3)  04. Colombia (SRicfsrN)

06. Which of the following planets have no moons?
WTATTdR! IV URTeT o ATal ?
01. Pluto and Mercury (@?ﬁ TfuT =ig) 0000
02. Mars and Venus (¥7Te 3111‘613135)
03. Mercury and Venus (F& 3101 I[3k)
04. Pluto and Mars (%€t 311fu1 HiTes)

07. Which planet has the solar system’s highest mountain Olympus Mons?

THIUTEAT TETER FEHATAIA Haia 39 gad Olympus Mons 3@ ?

01. Jupiter (&) 02. Uranus (@?‘H) OO0
03. Venus (3T) 04. Mars (HiTe3)

08. India’s first satellite Aryabhatta was launched on which day?
TRATT UTeAT SUE HTEAHEE HIvTeT [Gasit ST HISUaTd STe 7 0000

01. 19 April 1975 (3% TftreT $]04) 02. 28 Nov. 1985 (¢ Teg. §3¢W)
03. 20 Aug. 1975 (R0 RRE §R6k)  04.4 Aug. 1971 (¥ 3TE 236%)

09. Which woman astronaut has set the record for the longest single space

flight by a woman? ShIUTeHT AT UGN Faid Ad 1D 3IgeT
FIUTTEN Toshe Thel 3TE ?

01. Peggy Whitson (Uit fegeam) OXOXOXO)
02. Jessica Meir (Sf&rert #iR)

03. Christina Kosh (fsr&&T si=t)
04. Sunita Williams (g-fran feea)

10. Which of the following space agencies uses a spacecraft named
Hayabusa? TTelicTiehl ShIUTdT 37aiies TEAT RIS ATare S
TR ?

01. National Aeronautics and Space Administration (NASA) 0000

02. Centre National Detudes Spatiales (CNES)
03. China National Space Administration (CNSA)
04. Japan Aerospace Exploration Agency (JAXA)

11. The code name of the first vehicle driven by man on the moon’s surface

| - FOURRR 2. O00O0
01. Luna 22 02. Rover 03. Eagle 04. Challenger
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12. Space Application Centre (SAC) is located at .............
T 3MTHRIA G (SAC) ... I ITR. 0000

01. Mumbai (45%) 02. Ahmadabad (3TgHeTER)
03. Trivandrum (BEigR) 04. None of these (ITa<ht ARY)

13.  Which of these following planets has an atmosphere made up of

hydrogen, helium and methane? TTETTUEAT ShIUTET TETE ATATERUT FRIENH,
feram anfor fd e s ?
01. Pluto (Wel) 02. Urenus (Z&®) 03. Earth (9%3t) 04. Venus (I5R)

0000

14. Which of the following is not a scientific optical instrument?
WA hIvTa SR Tehet SUHIUT ATE ?
01. Telescope (‘gﬁ'ﬂ'l) 02. Periscope (aRavie)
03. Endoscope (USr=hIT) 04. Microscope (H\mﬁﬁ)

0000

15. Who was the first astronomer to use a telescope?
01. Jupiter (TeAferan) 02. Uranus (fererret ar fa=h)
03. Venus (STeHl) 04. Mars (graufean)

16. What astronomer suggested that the Sun was at the center of the solar
system?
T g1 GIATeIeAl el ST iUl WCITETRN Goa ? 0000
01. Copernicus (Shiufera) 02. Hypatia (gremafean)
03. Ptolemy (ZTeiwt) 04. Alexandria (3TeerenifeaT)

17. What astronomer placed Earth at the center of the universe?

THIVTEAT TTAITEAA J2AIET fI9arean hged i 3ae ? 0000
01. Ptolemy (2feH) 02. Galileo (eAferan)
03. Tycho Brahe (S@@RI §Ig)  04. Aryabhata | (3TE%E ¢)

18. The energy produced on the surface of the sun is due to which of the following
reactions?
e qsswRTTeR Faio BT St oo St st g ?
01. Nuclear fission (shgehta fe@=) 02. Nuclear fusion (Shaehial THIH) 0000
03. Displacement Reaction (fereermam arffsran)
04. Combination Reaction (TN 3ATERIET)

19. Whatis the name of India’s first earth observation satellite which is to be
placed in a Geosynchronous Transfer Orbit?
Geosynchronous Transfer Orbit €3 3a& FUM=E HRATEAT Uigean 92t | O O O O
ffiero s T w5 e ?

01. RISAT 11 02. GISAT1 03. GSAT7 04. INSAT 11

20. Falcon 9 rocket is used by which space agency?

oA § ohe THIVTEAT TS TEAGAR AT AT ? 0000
01. Roscosmos 02. NASA
03. ISRO 04. SpaceX
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21. Double Asteroid Redirection Test (DART) mission is associated with
which country?

Double Asteroid Redirection Test (DART) Ggdt TTg3Ig YATHGoM <Ireruft

OXOXOXO)
HIEH HIUTCAT Q99N Haied A8 ?
01. India (¥Ra) 02. USA (Tged T)
03. China () 04. Israel (3ETA)

22. Which company has launched ‘High throughput satellite (HTS)’
broadband internet serveice in association with ISRO?

SHIVT U $ETean Fgehmi ‘High throughput satellite (HTS) /S98 | ~ 5 0 O

3 U1 & helt 32 ?
01. Bharti Airtel 02. Jio Infocom
03. Vi 04. Hughes Communications India

23. Identify the wrong pair of the following in the context of the internet:
01. .gov - government website (TR m)
02. .com - merchant website (SATAR HehdEdes )
03. .ac - accounting website (fZeTema Hehawers)
04. .edu - educational website (JteiliTer Fehaedes)

0000

24. Who is called the king of chemistry?
THTIATEN ST TgUIA ShIUTTEAT Taierrd ?
01. Sulfuric acid (AEFIRE A ) 0000
02. Nitrogen Oxide (AT SATFATES )
03. Hydrochloric acid (SISl 3TTF )

04. Amino Acid (3Tt 21mFeT)

25. The potential energy of your body is minimum when you..............

T IRRTI feforst Sietl shHid hHl STE, el Tl evveeeennn. ..
01. sitting on a chair (TETeR THAT TEAT)

02. sitting on the ground (ITFER SEee 37@dT)

03. while sleeping on the floor (FIfFFIER FUAA 31HT)

04. while standing on the ground (SITEFeR 3N 3¥@dr)

0000

26. Who first created ammonia gas?
I 9T AT it TR el ?
01. Priestley (forea) 02. Rutherford (FeT®Ig)
03. Davies (3581) 04. Orchimedes (ATehAZEINT)

0000

27. Which of the following substances is used in vulcanization process of
rubber? TERTAN SEEh-TIATI Ufshald WeHeTdeh! ShiuTdl Uetel STo¥dTd ?
01. Carbon (shTeA) 02. Sulphur (Fe®)
03. Phosphorus (T1&R)  04. Nitrogen (?m@m)

0000
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28.

By which scientific name is the study of viruses known?

foraTopEn srvaTe SivTen el A e A ?

01. Bacteriology (SfereRatierist) 02. Virology (SgRRTeATST)

03. Genetics (SAfear) 04. Metallurgy (Weetst)

0000

29.

....................... percentage of UV rays from the sun reaching the earth is

blocked by the ozone layer? FaAThg YLaIeR AU ........... ZaFeh AT

fertut sftztvea wre srefarett st ?

01.99 % 02.81 % 03. 88 % 04. 50 %

0000

30.

How many decibels does a jet plane make?
HIRUTE: wie fommren sters fordt Sftmes sma?
01. 150 to 160 decibels (R4o d &0 Shrsrew)
02. 140 to 150 decibels ($%¥0 q 4o Sr=eq)
03. 160 to 170 decibels (280 o g9o Sfo=ed)
04. 100 to 110 decibels (300 @ %0 SHEew)

0000

31.

India’s first supercomputer was built by which institute in Pune?
WRATEN UfEetl HETERTUTS Ut ALt ShivTea HEIR qaR ohedl 7
01. C-DAC 02.B-DAC 03.C-CAC 04.B-BAC

0000

32.

What is the change in volume of ice when it turns into water?
TR YT TR 2T ATl ATRRHTTA hIUTAT SIact giell 2
01. Size decreases (3THRAT FHHI )

02. The size increases (THREH @A)

03. There is no change in size (MEHRAFTA FG gid A1)
04. None of these (JTdeh! ATE1)

0000

33.

The diameter of the sun is about .............

AT S GAR ..o AR,
01. 13 crore km. ($3 et fR.HI.)

02. 12,97,000 Sq.Km. (83,%,000 <it.fh.1.)
03. 42 lakh km. (¥ @@ fer./.)
04. 33 million meters (33 IITAL HI.)

0000

34.

01. galaxy (SATERTIRTT) 02. The patient (feeifert)
03. lightning cloud (a<TraE) 04. Constellation (ARERTHSA)

0000

35.

Water is formed by the combination of hydrogen and

TSI ST ... 1 AT HANTES UTURt AR B ?
01. galaxy (3TTaRI)

02. The patient (ATEEIA)
03. lightning cloud (RTEFETT 3TFATES)

04. Constellation (2ferm)

gas?

0000
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36. Whereis continuous 12 hours day and 12 hours night?
Had ¢ A [Ga| 9 22 a1 U hid 3194 ?

01. Tropic of Cancer (Elﬁﬁc_d) 02. Tropic of Capricorn (Wehided)
03. the equator (Forgaara) 04. None of these (ITUhH! AT)

0000

37. If you walk towards the north or south pole of the earth, at which line or
axis does the earth’s surface end?
GoATeAT I TRl STRTUT SIaTehe TTeTd HodTd ShIUTeT ¥ fohall 3187 Sedtert
geefIeaT YUSTRI Jere Bl ? 0000
01. 90° latitude (0° 37&TTIT) 02. 60° latitude (§0° 37&TTIT)
03. 180° latitude ($¢0° JA)  04. 360° latitude (3§0° 3T&ATIN)

38. Newton’s second law gives the measure of ———?
e gaa FEm L < HIOA a1 ? 0000
01. momentum (F&T) 02. force (1)
03. acceleration (TaRUT) 04. Inertia (STSA)

39. When was India’s first nuclear reactor ‘Apsara’ commissioned?
YRATE Ufgelt STUINE STERT Thegl & huaTd e 7 0000
01. 1950 02. 1967 03. 1946 04. 1956

40. You can’t hear the explosions on the sun because ...................

AT THIET ST 3IUTH Uk A4 AT BRT. ...

01. The sun is very far from the earth (!fﬁ Q%ﬁﬂ'l'{fl TR AR)
02. The temperature of the sun is very high (qgﬁﬁ AT BR AR) 0000
03. After some distance between sun and earth there is no atomosphere

(Td & G2EHEd I AR STATeRuT AT
04. The sun is bigger than the earth (1137? qc%ﬁﬁaﬂﬁa'l AR)

41. As the density of the medium increases, the speed of sound..................
T HILTHTE TdT TS9N a1ed ST aeddl Sa-en al.............
01. is increasing (ST&a SATaN)
02. decreases (SH! gd WTAY)
03. It remains the same (da@Ta )
04. None of these (ITUH! AT)

0000

42. Planets are spheres in the sky........

01. They revolve around the sun and are automatic
(a4 gEivIEd foRaTa o wagEtera SwdT)

02. They revolve around the axis of other planets 0000
(q g Ugrean ST o)

03. They revolve around the sun and receive light from it
(4 TR foRaTa o e R SehT9T SaT)

04. All of the above (a8t Td)
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43. What causes an earthquake? (‘Hj:iiq AT HROY Gﬁ‘ﬂ?ﬁ?)
01. Earth contracts and expands (SHIR 3T & TERUT UTa)
02. Adormant volcano awakens (‘ﬁHWIFITﬂ'@G’FFI @?ﬁ) OO0
03. Underground water vapor (SFTHTd I JTuamel STsd gid)
04. All of these (IRt Td)

44. Which of the following phenomena is harmful to ozone gas?

WTATUh! ShIUTAT Teeh SIS M gI-ehieh 3T ? 0000
01. Chlorofluorocarbons (FARIFARI &)  02. Nitrogen (ATIESH)
03. Oxygen (3AT@ESE)  04. Carbon dioxide (ShTaH SRIATFITEE)

45. What is diamond scientifically? (JTitar geean fgw rgurst @i ?)

01. precious stone (Hieda™ I) 02. Carbon (ShTeA) O000
03. mineral (@A) 04. None of these (JTa<h! ATEY)

46. How many continents and how many oceans are there on earth?
geefiar forelt wie @ ferelt HEIR R ? O00O0

01. 7,4 02.4,9 03.6,5 04.7,5

47. Which gas is found in both natural gas and dung gas?
O T AT &R 76 31 FIEHED HTEHUTRT AT ShIUTeT ?
01. Methane (fa2m) 02. Butane (Qﬁ?)
03. Ethylene (Zfafem) 04. None of these (JTa<h! ATEY)

0000

48. The sky looks blue in the afternoon because.........

01. The atmosphere absorbs all blue light
(aaTerut T et TRt |ETEs Ud)

02. Particles in the atmosphere emit blue light
(STATEROTA 0T FesT TerT9T STt |igard)

03. Alarge amount of blue light is emitted
(= R Higen TATUTa farfeRtor gm)

04. None of these (JTa<h! ATEY)

0000

49. Which of the following book is not written by Dr. A.P.J. Abdul Kalam?
WICAeTdh! ShIvTd G 1. TS 3Heget ot A foafgeret A ? 0000

01. Failure to Success: Legendary Lives 02. You Are Born to Blossom
03. Ignited Minds 04. A House for Mr. Biswas

50. Where is ‘Dr. APJ Abdul Kalam National Memorial’?
M. LULS. 3G el TSI TN hid 3T ?
01. Pei Karumbu (U3 &&g]) 02. Krusadai Island (HETE 9€)
03. Kattupalli Island (gueet aIe) 04. Quibble Island (fFa=et 52)

0000

51.  Which of the following metals was first used by man?

I WTEATCTIh! ShiUTeT ST SUSRT TS hedl 7 0000
01. Gold (|¥R) 02. Silver (R€t) 03. Iron (¥1@) 04. Copper (A1)
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52. has been appointed as the chairman of the ISRO, the Indian
Space Resarch Institute in Junuary, 2022.

WA ST TN TEA TEUT TEA o AT U ... e
AR, 2033 HEA Tgel Seiel 3R,

. OXOXOXO
01. Dr. K. Sivan (2. . f&em)
02. Dr. S. Somnath (. TH. WHATA)
03. Dr. K. Radhakrishnan (. . TUTRSITH)
04. Prof. MGK Menon (3. THSieR A=)

53. Which one of the following country has provided instrumental support to
India’s ambitious space mission ‘Gaganyar’
WRATSHT HgcaTehtell TRHAH AT AR HIfEHT WiciicTdeh! ShiuTedn a9
TEeAYUT HEHT TITA TR ?
01. Japan (SM) 02. United Arab Emirates (Sge W& SITHTd)
03. France (W) 04. South Koria (gf&ror siftan)

0000

54. Which space agency has released the first visible light images of the
surface of venus from space.
THIVTAT G TEA AT IFHIAT TSHRTE Ufgel GIaH™ SRt 0000
TfcHT JeRTIITA ehedt 3118 ?
01. ESA (3um) 02. JAXA (S T U U)
03. NASA (qT#) 04. CNA (¥t TA 1)

55. NROL-85, which was launched recently, is an intelligence satellite of

which country? (Jehart TR Heiel T 3TR 30 TA — ¢4 T hivTe

ST T[FER IUYE HL?) 0000
01. Russia (¥f9rm) 02. Istrael (ZE=TTA)
03. France (%) 04. USA (3.ta.1)

56. Onwhich day, India successfully conducted second nuclear test?
HRAH U gEL STUTTAUR vt fasft avreeidien ur areet ?
01. 18 May 1974 (3¢ % §R9%¥)  02. 20 March 1993 (30 ATd $3%3)
03. 11 May 1999 (28 ® §33%)  04. 17 April 1996 (29 TSIt $3%%)

0000

57. During World War I, which two cities of Japan were bombed?
TEA AETGEETEATAG ST QUITAT HIUTT G ITgUeR AU goenl Shivard
ATAT?
01. Hiroshima, Hong Kong (f&tifemm, giesim) 0000
02. Melbourne, Nagasaki (AeTa, ARTETER)
03. Hiroshima, Nagasaki (f@fomn, Ammareht)
04. Hiroshima, Shanghai (FZafomm, vem)

58. Whatis the name of the world's first nuclear reactor?
T Ul STUHER AT i 3118 ?
01. Chicago Piles 1 (PTerFI utge®@—¢) 02. Manhattan (WA@eA)
03. Chernobyl (Jifere) 04. Apsara (37cE)

0000
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59. Match the pair. (ST &an)
A. Facebook (WHe) - 1. Mark Zuckerberg (HTeh Jehart)
B. Amezon (3HZAA) - 2. Jeff Bezos (I SHIT)
C. SpaceX (Ta@a4) - 3. Elon Musk (S&i+ #%&h)
D. Alibaba (2tfetaman) - 4. Jack Ma (ST #1)
01. A-1,B-2,C-3,D4 02. B-1,A-2,C-3,D-4
03. D-1,C-2,B-3,A4 04. A-1,B-2,D-3,C4

0000

60. ISTRO's Chandrayaan-1 was successfully launched on which day?
TER TigIH- ¢ hiuTe faasft arvreiiten wefua s o1 ?
01. 22 Oct. 2008 (2 AT, R00¢)  02. 08 Nov. 2008 (0¢ MG, R00¢)
03. 22 Dec. 2008 (3% f&®. 200¢)  04. 22 Nov. 2008 (3% AIEg. R00¢)

0000

61. What should be multiplied by (-12) in order to get 1807?
(—%?) "R vt T fHesaeht Y, $¢o T we e ? O00O0
01. 15 02. -15 03. 16 04. -16

62. Which of the following statements holds correct?
WIAAThT ShIUTAT T RIS 3718 ?

0l.NcWcZ 02.WcNcZz
03.ZcNcW 04.ZcWcN

OXONOX®)

63. What is the product of 1%, 3% and 3

y 0000
18

18 19 19
(A) 32—4 (B) 22—4 (€) 32—4 (D) 22—4

3
64. Guru reads 5 of a book. He finds that there are still 80 pages left

to be read. What is the total humber of pages in the book?

& Ukl JEAehTiet % T3 STIal. STH el <0 Tse JTarE<t 31ed, X e

JEARTEA THUT USaTel T fehell 3118 ?
(A) 100  (B) 200  (C) 300 (D) 400

0000

65. What does the shaded part of the following strip represent?
Wl UZI STAfehd W 1T g9ierl ?

0000
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1 3 1 i ™ .
66. Whatisthevalueof3——[1—+{2-2-—(15—§J}J?%|"]1%5qam3n%? 0000

12 4
01. 0.5 02. 2 03. 1 04. 0
67. Asquare having side 4 cm., difference between their area & perimeteris....
Teh! ST AT ¥ W11 ST, T TR 3 SewesTi el Tl ........... JR. |O00O0
01. 4 02. 0 03. 1 04. 2
68. Sumoftwo.......cc......... number is zero.
L T A Y . 0000
01. same (FVREA) 02. opposite (o)
03. even (|M) 04. odd (ferem)

69. Length of rectangular parkis 100 m. while is 80 m. then it’s perimeter is

.......... m. TShT SATEATSha SR Tielt $00 T, 3R & el Tt ¢o W, 3. W 0000
A g . 3.

01. 360 02. 370 03. 260 04. 250

70. Product of biggest three digit no. and biggest four digit no. is .................
HATd WIS i 3Rt o Faid it TR 37eh! TG UITEER ................. 0000
01. 99,89,999  02.99,89,001 03. 99,89,009 04. 99,99,001

71. Paris of twin prime no.s between 1 to 100
2d 200 TG ............ HIE o5 &A1 SEaT. O00O0
01. 8 02. 9 03. 10 04. 01

72. {[(2+3)x2]+(4-2)}x4= 0000
01. 20 02. 16 03. -20 04. -16

2+3+5
5

2+3+5
S x= 5 , W T-x1=...........

73. Ifx= ,then1-x1isequalto...........

0000

8
01. 5 02. 3 03. 0 04. 1

74. 1f23% ofais46,thenfinda=..........

SRasAM23%=46Ra=............ O00O0
01. 150 02. 200 03. 20 04. 300

75.  Which of the following Statements is true for a rectangle?
SATIATSA ST WiciieTdeh! shiuTd fererm shisr 31 ? O00O0
01. All rectangles are squares (9d 31T¥IA g <R @A)
02. It's diagonals are perpendicular (SATEATE Ut (THHRMAT) T FTEATT)
03. It's diagonals are equal (3TTHAT=! THUT TH THED 3THATA)
04. All sides are equal (STTEATEAT T& STS] THH SFAT)

76. Euler's Formulais given by (WTefteTieht shiutd Jerea T3 fiet ame ?)
01. F+V=E+2 02. F+V+E=-2 0000

03. E-F-V =2 04. F+V+E=2
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77. Simplify: (V¥ U 1.)
[823 + (- 398)] + [413 - 312 + (- 400)] - (-30) + 286 - {( - 115) + 117} 0000
01. -440  02.-287  03.287  04.440

7 7
. I T T,
78. Which of the following is the sum of 8 + 10 + 100 -
. 0000
WAt 8 + 0" Too <= 98 Tt o ?

01. 8.79 02. 8.97 03. 8.16 04.9.6

79. Ifthe numbers 43048, 42544, 43,486, 42,454, 43,844 are arranged in a
suitable order, then what will be the difference between the greatest and the

smallest numbers ? 0000
IR 43048, 42544, 43,486, 42,454, 43,844 E AT ARY SHATA HISA WAl T
T HIGAT ATV T g TACATHEN hid Tleh THA ?

01. 1300  02. 1090  03. 1390  04. 796

80. Which of the following options is correct according to the rules of writing
Roman numerals?

T 37 ferfguarean Femmganr Eetedent s s a1 ?
01. XDVII  02. DDXC 03. CLLVV 04. MDCLXXI

OXONOX®)

NSTS ADVANCE LEVEL EXAM 2022 Page No.11to 11




